3 y LAANA
/\I\I\/\I l\l\l\/\/ AN NN N

WARRIOR [

Protecting Your Adventure Lifestyle

800009
FRONT SWAY BAR LINK W/BRACKET — JEEP TJ
INSTALLATION INSTRUCTIONS

Please read instructions before beginning installation. Check the kit hardware against the parts list. Be sure
you have all needed parts and know where they go.

1. Mount the sway bar front mount bracket to the right front sway bar using the 7/16” hardware provided as
shown in the illustration below.
2. Attach the front sway bar link as shown in the illustration below using the hardware provided. Torque the

bolts to 30 ft./1bs.
3. Repeat for the left side of the vehicle.

NYLOCNUT, 38"

FLAT WASHER, 3/8” //” mé:”i “‘w:;;;\

, 4

SWAY BAR FRGNT i1 1'1
MOUNT . H
20-55499-9 %\ i

V4
e é\
v’*

tr_{” ‘ HEX BOLT, 3/8” x 112" L6.

\
,“‘*.f’ =

FLAT WASHER, 3/8"

HEX BOLT,
308" x 2 112" 16. S

(FRONT)

: 4‘ d NYLOC NUT, 3/8”
SWAY BAR LINK ———~—-§

90-2008

EXISTING
MAINTENANCE INFORMATION

It is the ultimate buyers responsibility to have all bolts/nuts checked for tightness after the first 100 miles. After that, check them
every 1000 miles. Wheel alignment steering system, suspension and drive line systems must be inspected by a qualified
professional mechanic at least every 3000 miles.

PARTS LIST
Sway Bar Links #700028 (2)
U-Brackets (2)

QUALITY o INTEGRITY . INNOVATION o SERVICE

Learn more about performance suspension parts we have.


https://www.carid.com/warrior/
https://www.carid.com/suspension-systems.html

